Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

As soon as possible, remove one of the soft belts and
continue inserting the rotor.

Keep an adequate support under the shaft end.

L™ \ ins_ECO_019-100

Using an appropriate lifting system, lift the back cover and
put it in position.

Screw a threaded bar in the hole on the shaft.

Screw a nut on the threaded bar. Insert a cylindrical spacer,
overlapped by an adequate plate, between the nut and the
back cover.

Screw the nut in to introduce the bearing in the housing of
the back cover.

ins_ECO_020-100

Lift the front cover and put it in position. Make sure you line
up the (felt pen) marks made earlier on the covers and the
frame.

Fasten the rods (for 38 - 40 Series) or the bolts (for 43 - 46
Series) to the tightening torques. See paragraph 9.6).

ins ECO 021100

Fasten the cables of the main rotor to the shaft with a strap.

ins_ECO_028-100

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 92




Code: en_GB Self-regulated Alternators
Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

Clean the exciter rotor housing on the shaft. Remove the dirt

and any residual glue.
Sprinkle it with Loctite Permabond A1046 glue or equivalent.

ins_ECO_022-100

Clean the hole of the exciter rotor. Remove the dirt and any
residual glue.
Sprinkle it with Loctite Permabond A1046 glue or equivalent.

ins_ECO_033-100

Using an appropriate lifting system and a soft belt, lift the
exciter rotor.

Introduce the rotor into the shaft, in its original position.
Carefully observe the position of the key marked during the

assembling stage.

Screw the three M8 screws to 21Nm to fasten the blocking

hub of the exciter rotor.

ins_ECO_029-100

[-M W
mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 93




Code: en_GB Self-regulated Alternators
Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

Insert the rotating diode bridge and screw in the 3 M5 screws
to 3.3 Nm.

Rewire the three cables of the exciter rotor and the two
cables of the main rotor in their initial configuration.

ins_ECO_024-100

Using a soft belt lift the exciter stator.

Introduce the exciter stator in the housing with the cables
positioned inward and oriented upward.

Insert the fixing bolts and screw them with a torque of 25
Nm.

Pass the yellow and blue cables of the exciter stator through
the cable gland hole on the frame.

Connect them to the regulator and fasten them with
appropriate straps as in the original configuration.
Reassemble the back carter, the back cover and the terminal

ins_ECO_025-100

box.

[-M W
mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 94




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

9.5.5 PMG disassembling

Type of intervention Operator Periodicity
PPE to wear Materials and equipments

@ 0 @ Workshop tools.

Disconnect the alternator from the power supplies. The drive motor must be off and unplugged from its power
supplies.

A. Remove the protective cover and grid.

B. Re-introduce the paper spacer.

ins_ECO_030-100

C. Loosen the central M14 rod and, without removing it
completely, use as a lever on the PMG device to uncouple it
from the exciter rotor.

| S Secure the PMG to an appropriate lifting device using a soft
ol 1, 1\7:0:'§ belt.
D. Remove the 4 M8 screws .
e Use a lever to remove the PMG device from the exciter

ins_ECO_031-100

stator, being careful not to remove the exciter stator too.

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 95




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

9.5.6 PMG assembling (38 series)

Type of intervention Operator Periodicity
PPE to wear Materials and equipments

@ 0 @ Workshop tools.

Disconnect the alternator from the power supplies. The drive motor must be off and unplugged from its power
supplies.

On the 38 Series the PMG is available only on express customer request made when ordering the machine. In fact the
standard machine does not envisage the possibility to assemble this accessory.

B3

A. Center the fixing washer in the exciter rotor and screw in
the three M8 screws applying a 21 Nm torque.

B. Accurately clean the exciter stator removing the paint (1)
and remove the paint on the PMG (2).

ins_ECG38_006-100

C. Match the PMG to the exciter stator and center the flange,
screw in the 4 M8 screws provided applying a 25 Nm torque.
D. Center the washer for the central rod in the rotor pack and

screw in the central M14 rod applying a 120 Nm torque.

E. Remove the paper spacer.

F. Make sure the PMG is perfectly placed in the housing by
checking that the rotating part rotates freely without any
interference, then pass the wires as shown in the figure and

connect them to the regulator according to the diagram.

ins_ECO38_008-00

G. Insert the special IP23 back grid and screw in the 8 M6
screws applying a 9 Nm torque.
H. Insert the IP23 protective cover and screw in the 3 M4

screws applying a 1.5 Nm torque.

ins_ECO38_008-100

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 96




Code: en_GB Self-regulated Alternators
et o Series ECO 38-40-43-46 ENGLISH

Date: 09/05/17 15:47

9.5.7 PMG assembling (40-43-46 series)

Type of intervention Operator Periodicity

Materials and equipments

PPE to wear

@ 0 @ Workshop tools.

Disconnect the alternator from the power supplies. The drive motor must be off and unplugged from its power

supplies.

A. Remove the IP 23 back protective cover.
B. Remove the 6 M8 screws of the exciter stator.

[e

C. Accurately clean the area indicated in the drawing of the
exciter stator (1) and remove the paint from the PMG device
(2).

D. Match the PMG to the exciter stator making sure you
position correctly the reference for the ECO40 (3), ECO43-46
(4) and you center the flange, screw in the 6 M8 screws
provided applying a 25 Nm torque.

E. Center the washer for the central rod in the rotor pack and
screw in the central M14 rod applying a 120 Nm torque.

F. Remove the paper spacer.

ins_ECO404346_012-00

97

[-M W
mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized




Code: en_GB Self-regulated Alternators

Date: GBI0BIL7 1647 Series ECO 38-40-43-46 ENGLISH
G| ECO 40 ECO 43 - 46

G. Make sure the PMG is perfectly placed in the housing by
checking that the rotating part rotates freely without any
interference, then pass the wires as shown in the figure and
connect them to the regulator according to the diagram.

H. Insert the special IP23 back grid and screw in the 12 screws
applying a 12 Nm torque.

I. Insert the IP 23 protective cover and screw in the 2 screws
at 3.5 Nm and insert the cap nut.

ins_ECO404346_014-100

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 98




Code: en_GB Self-regulated Alternators
Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

9.5.8 Removal of disc holder hub
Type of intervention Operator Periodicity
PPE to wear Materials and equipments

QRO

Disconnect the alternator from the power supplies. The drive motor must be off and unplugged from its power
supplies.

Use an appropriate hydraulic extractor to extract the hub.
For the 43 and 46 series use an additional flange attached to
the hub.

ins_ECO_026-100

Heat the disc holder hub. Use two oxyacetylene heating
torches.

Keep the extractor under pressure until full extraction of the
hub.

ins_ECO_027-100

Before reassembling the hub heat it to 250 °C for 1 hour.

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 99




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

9.5.9 Loss of residual magnetism (reexcitation of the machine)

Type of intervention Operator Periodicity
PPE to wear Materials and equipments

@ 0 @ : Battery, electrical wires and
i resistance.

Disconnect the alternator from the power supplies. The drive motor must be off and unplugged from its power

supplies.

The following procedure applies to the alternators equipped with an electronic regulator and must be applied in case the
alternator does not self-excite (in such case, even if rotating at nominal speed, voltage is not present in the main terminal block

of the alternator):

P— i W —
O OB 0 =

e TR
ST QEI,[Q_»OV% i ‘E‘
- . 0 g zF
@S T © V3

]”]Mﬂ‘

g i O
- ', -|:,¢°‘¢‘m M

lay_ECO_002-100

* With the alternator off, remove the cover of the terminal box.

* Prepare two terminals connected to a 12 Vdc battery possibly with a 5 Q resistance in series.

“

* Use the electrical diagrams provided by Mecc Alte to identify the “+” and “-“ terminals of the electronic regulator.

* Start the alternator.
* Apply for an instant the two terminals to the previously identified terminals being very careful to respect the polarity

“wn “ u

(“+” terminal of the regulator with the “+” terminal of the battery, terminal of
the battery).

* Use a voltmeter or the corresponding board tools to check whether the alternator generates the nominal voltage

terminal of the regulator with the

indicated on the "nameplate" of the alternator.

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 100




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

9.5.10 Verification and replacement of voltage regulator

Type of intervention Operator Periodicity
PPE to wear Materials and equipments

@ 0 @ : Workshop tools.

Disconnect the alternator from the power supplies. The drive motor must be off and unplugged from its power

supplies.

The alternators are equipped with an automated voltage regulator: depending on the alternator type, the electronic regulators
may be of 4 types: DSR, DSR/A, DER1, DER1/A.
The standard supply comes with the DSR on the 38 Series and the DER1/A on the 40-43-46 Series.

L[]
DER1 can be mounted on the 38 Series and DSR/A can be mounted on the 40-43-46 Series on customer request.

In case there are voltage regulation problems not ascribable to an erroneous adjustment of the VOLT, STAB, Hz and
AMP potentiometers and/or to the system (fully assembled machine + load), follow the procedure below for an in-
depth check of the voltage regulator.

Visual Inspection of the Regulator
L[]
Do not change the position of the VOLT, STAB, Hz and AMP potentiometers before marking their position.

In particular check for:
* Mechanical damages of various kinds.
* State of fuses.
* Undamaged state of electrical connections.
* Potential presence of burned electrical components.
* Presence of the silicone protection in the Hz and AMP potentiometers.
Check the SCR resistance and flyback diode.
Before doing this test, check that the fuse is inserted and undamaged.
* Flyback diode: it is working if the diode test performed between pin 1 and 2 has a positive result.
* SCR:itis working if a resistance of some hundred KQ is measured between pin 1 and 8 (in the DSR) or between pin 1 and
2 (in the DER1 regulator).
A resistance measure close to zero signals a SCR failure.
A reason for the damaging of these components may be the erroneous cabling of the alternator regulator.
Copy the data and alarms of the regulator.
To avoid creating new alarms, the copy of the data and alarms existing in the regulator (.dat and .alr files) must be made feeding

the alternator with an appropriate continuous voltage, in accordance with the diagrams below.

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 101




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

The correct supply and operation of the software are signaled by a green LED flashing with a 1 second period. If the
LED is not lit try to turn the power supply system off and restart it.

Testing on static bench (see paragraph 9.5.11, 9.5.12, and 9.5.13)

USB2DxR
] Interface

)]

i)

TN

34 5 6 7 6 9 101121914151 17718 19202122

/=) DER1
—' Feeding

Voltage
—(:B 48Vdc

ds_ECO_013-00

* Register the position of the VOLT, STAB, Hz and AMP potentiometers reading the L[32], L[33], L[34] and L [35]
corresponding parameters and the state parameters, reading L[36], L[37], L[38] and L[39].

* Check the correct operation of the VOLT, STAB, Hz and AMP potentiometers, rotate them completely in anticlockwise
and clockwise direction, the value of the L[32], L[33], L[34] and L[35] parameters must be 64 in one direction and 32760 in
the other direction.

Register the L[41] parameter; with the external potentiometer unconnected you should read a value of 16384; otherwise
the external potentiometer circuit is damaged.

Voltage regulation test: set the VOLT, STAB and Hz potentiometers to notch 6 then rotate the AMP potentiometer
completely in clockwise direction. Read the L[43] and L[44] parameters.
When rotating the VOLT potentiometer in anticlockwise or in clockwise direction, the value of the L[43] parameter should
respectively decrease or increase.
Check and confirm the following behavior: if the L[43] value is higher than the L[44] value, the bench light bulb should brighten.
If instead the L[43] value is lower than the L[44] value, the light bulb should dim until it shuts off.
The light bulb represents the fictitious load connected between connectors 1 and 2 of the digital regulator.

* AMP protection test: set the STAB and Hz potentiometers to notch 6, then rotate the AMP potentiometer completely in
clockwise direction; then rotate the VOLT potentiometer so as to have L[43] higher than L[44], the bench light bulb on and
no active alarm.

Read the L[45] parameter and set the AMP potentiometer (reading the L[35] parameter for the SN equipped regulators with a
yellow tag, or L[55] for the SN-equipped regulators with a blue tag, to a lower value than the value of the previously read L[45]
parameter. Check the intervention of the AMP protection (alarm 5).

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 102




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

Once you established that the regulator must be replaced, proceed as follows:

* Disconnect all the connection wires in the terminal
block.

* Unscrew the blocking 2/4 screws of the regulator.

* Place the new regulator in the specified position.
* Fasten the new regulator with the previously
collected screws.

* Reconnect all the wires to the terminal block of the

regulator, using, if necessary, the diagrams provided

ins_ECO 005400 by Mecc Alte.

In case you detect anomalous behavior please refer to the specific regulator manual or contact Mecc Alte's technical support
service

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 103




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

9.5.11 DSR test and setup on test bench

Type of intervention Operator Periodicity
PPE to wear Materials and equipments

: Personal
@ 0 @ i computer+interface+software

Disconnect the alternator from the power supplies. The drive motor must be off and unplugged from its power

supplies. Disconnect the regulator and connect to a computer according to the diagrams below. The operations of
functional checkout and parameter setting may be easier if they are performed on a test bench rather than with the
regulator still inside the terminal box.

Caution

A Given that some parts of the DSR which work with a high potential are not isolated, for the safety of the operator, it is
necessary for the power source to be isolated from the electrical grid, for instance by a transformer.

Caution

A The use of these types of connection is reserved to qualified personnel, able to assess the operational risks of high
voltage and who have a full knowledge of the content of this manual.

The connection diagrams of the DSR and the USB2DxR communication interface are shown in figures (A), (B) or (C) in this

paragraph based on the requested function and on the available supply voltage.

USB2DxR {}
T Interface ﬂ:l

DSR 48Vdc power supply for the download of the alarms

without risking to change to content of the EEPROM because
of the tests.

No other connections besides the power supply are
needed.

S— 48Vdc
P

dis_ECO_002-100

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 104




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

E USB2DXR:

Interface:

DSR 70-140Vac power supply for test and setup.

The fictitious load between terminals 1 and 2, the
sensing on terminal 7 and the bridge between
terminals 6 and 3 of the DSR.

Voltage
'— 70Vac-140Vac
Dummy load
2307240V - 400
dis_ECO_003-00

I :uaB2oxr @7
Interface ﬂ;

DSR 140-140Vac power supply for test and setup.
The fictitious load between terminals 1 and 2, the

sensing on terminal 5 and the bridge between

terminals 3 and 4 of the DSR.

_CE Feeding 2
Voltage \
& 140-270Vac
Durnmy load
230/240V - 40W

dis_ECO_004-r00

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 105




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

9.5.12 DER1 test and setup on test bench

Type of intervention Operator Periodicity
PPE to wear Materials and equipments

: Personal
@ 0 @ : computer+interface+software

Disconnect the alternator from the power supplies. The drive motor must be off and unplugged from its power

supplies. Disconnect the regulator and connect to a computer according to the diagrams below. The operations of
functional checkout and parameter setting may be easier if they are performed on a test bench rather than with the

regulator still inside the terminal box.

Caution

Given that some parts of the DER1 which work with a high potential are not isolated, for the safety of the operator, it is
necessary for the power source to be isolated from the electrical grid, for instance by a transformer.

Caution

A The use of these types of connection is reserved to qualified personnel, able to assess the operational risks of high
voltage and who have a full knowledge of the content of this manual.

The connection diagrams of the DER1 and the USB2DxR communication interface are shown in figures (A), (B) or (C) in this

paragraph based on the type of available power supplies.

7

* H éﬂ éé ﬁéﬂ? DER1 48Vdc power supply for the download of the alarms

%mgégéég% without risking to change to content of the EEPROM because
= of the tests.

@llﬁ Ilﬂilﬁﬂ TN Iﬂil[‘/

12z 045678 9 0fI1ZNMI5%1T 81920222

No other connections besides the power supply are

=, DER1
"~ Feeding

Voltage
%) 48vdc

needed.

dis_ECO_005-100

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 106




Code: en_GB Self-regulated Alternators
Date: GBI0BIL7 1647 Series ECO 38-40-43-46 ENGLISH

Eﬁé *""*H,_é% $$$

I 071 I1]®

s 7 Um" nww m? 2

Dummy load LCE

230/240V - 40W

DER1
Feeding Voltage
75Vac-150Vac

dis_ECO_D0B-100

4I557eaw

@ Feeding Voltage
Dummy load 150Vac-270Vac

230/240V - 40W O

DER1 75-150Vac power supply for test and setup.

The fictitious load between terminals 1 and 2, the
sensing on terminal 6 and the bridge between

terminals 8 and 9, 7 and 15, 12 and 16, 19 and 22.

DER1 150-150Vac power supply for test and setup.

The fictitious load between terminals 1 and 2, the
sensing on terminal 4 and the bridge between

terminals 5 and 14, 12 and 17, 19 and 22.

Hr
l mecc alte

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

107



Code: en_GB Self-regulated Alternators
Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

9.5.13 DER 2 test and setup on test bench

Type of intervention Operator Periodicity
PPE to wear Materials and equipments

@ 0 @ : Personal computer+software.

Disconnect the alternator from the power supplies. The drive motor must be off and unplugged from its power

supplies. Disconnect the regulator and connect to a computer according to the diagrams below. The operations of
functional checkout and parameter setting may be easier if they are performed on a test bench rather than with the
regulator still inside the terminal box.
Caution

A Given that some parts of the DSR which work with a high potential are not isolated, for the safety of the operator, it is
necessary for the power source to be isolated from the electrical grid, for instance by a transformer.

Caution

A The use of these types of connection is reserved to qualified personnel, able to assess the operational risks of high
voltage and who have a full knowledge of the content of this manual.

The connection diagrams of the DER2 are shown in figures (A), (B) or (C) in this paragraph based on the type of available power

supplies.

S N NS AN T
N DER1 48Vdc power supply for the download of the alarms
n without risking to change to content of the EEPROM because
I of the tests.
TG
——

94 5 6 7 8 9 10 1112 19 14 15 16 17 18 19 20 21 22

No other connections besides the power supply are

needed.
=, DER1
~~ Feeding

Voltage
—— ) 48vdc

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 108




Code: en_GB
Revision: 0
Date: 09/05/17 15:47

Self-regulated Alternators
Series ECO 38-40-43-46

ENGLISH

03

T (000 1] @

o |7 |e s 10 ifi 1)z %0 14 tfs 16 17 18 W9 20 212[2
(| —

Dummy load
230/240V - 400

DER1
Feeding Voltage
75Vac-150Vac

dis_ECO_009-00

Dummy load
230/240V - 40W

Feeding Voltage
150Vac-270Vac

dis_ECO_010-00

DER2 75-150Vac power supply for test and setup.
o .F Y The fictitious load between terminals 1 and 2, the

sensing on terminal 6 and the bridge between
terminals 8 and 9, 7 and 15, 12 and 16, 19 and 22.

DER2 150-270Vac power supply for test and setup.

The fictitious load between terminals 1 and 2, the
sensing on terminal 4 and the bridge between
terminals 5 and 14, 12 and 17, 19 and 22.

Hr
l mecc alte

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

109



Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

9.5.14 Main stator windings voltage test

Type of intervention Operator Periodicity
PPE to wear Materials and equipments

@ 0 : Electrical tools.

Disconnect the alternator from the power supplies. The drive motor must be off and unplugged from its power
supplies.

o
=

Ul

o

oo

7

s

e e e e

e saesacsae il

L2

LGl Q=G|

&
O

lay_ECO_003-r00

Use a multimeter to check all three phases (both L-L and L-N).

When off-load the voltage should be balanced on all three phases with a + 1% tolerance.

If the voltage is unbalanced, this indicates a problem in the main winding of the stator.

If instead the voltage is balanced on the three phases, then the winding of the stator does not have problems.

If the voltage is lower than 15% of the nominal voltage, there might be a problem with the regulator, in the rotating diode bridge
or in the exciter winding.

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 110




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

9.5.14.1 Resistance/Continuity Test

= Main Stator

Use an appropriate tool to measure the phase
resistance/continuity 1-2, 3-4, 5-6, 7-8, 9-10 and 11-12

Also check the resistance/continuity of the auxiliary winding
between the two red wires coming out of the main stator.

For the values see paragraph 12.3.

dis_GEN_001-r00

Main rotor
Measure the resistance/continuity of the main rotor using a

multimeter.

For the values see paragraph 12.3.

dis_GEN_006100

Exciter stator

. Measure the resistance/continuity of the winding of the
exciter stator between the positive wire (yellow) and the
negative one (blue) with a multimeter.

For the values see paragraph 12.3.

dis_GEN_002-100

Exciter rotor
Measure the resistance/continuity of the winding of the
exciter rotor between phases with a multimeter.

For the values see paragraph 12.3.

dis_GEN_007-100

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 111




Code: en_GB Self-regulated Alternators
Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

9.5.14.2 Insulation Test

Main Stator
Completely disconnect the AVR and the connection between
neutral and ground before performing this test.

The measurement must be carried out using an insulation
=0 tester (Megger) of 500 V.

Check the insulation between phases, between phases and
ground, between auxiliary and phases and between auxiliary
and ground.

For these alternators, the minimum insulation value is
of 1 MQ.

If the insulation resistance is lower, the stator must be

dis_GEN_001-100

cleaned and, if necessary, impregnated or painted again with
EGA43 gray paint and then dried at 50-60 °C.

If after these operations the value remains low, the stator
must be rewound or replaced.

Main rotor

The insulation resistance is measured between phase and
ground using an insulation tester (Megger).

For these alternators, the minimum insulation value is
of 1 MQ.

If the insulation resistance is lower, the rotor must be
cleaned and, if necessary, impregnated and then dried at 50-
60 °C.

dis_ GEN_006-100 If after these operations the value remains low, the rotor

must be rewound or replaced.

Exciter stator

The insulation resistance is measured between phase and
ground using an insulation tester (Megger).

= For these alternators, the minimum insulation value is
of 1 MQ.

If the insulation resistance is lower, the stator must be

cleaned and, if necessary, painted again with EG43 gray paint
and then dried at 50-60 °C.
s GEN_002+00 If after these operations the value remains low, then the

stator must be rewound or replaced.

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 112




Code: en_GB Self-regulated Alternators
Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

Exciter rotor

The insulation resistance is measured between phase and
ground using an insulation tester (Megger).

For these alternators, the minimum insulation value is
of 1 MQ.

If the insulation resistance is lower, the rotor must be
cleaned and, if necessary, impregnated and then dried at 50-
60 °C.

dis_GEN_ 007100 If after these operations the value remains low, the rotor

must be rewound or replaced.

[-M W
mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 113




Code: en_GB Self-regulated Alternators

Revision: 0 . ENGL'SH
Date: 09/05/17 15:47 Series ECO 38-40-43-46
9.6 General Tightening Torques
9.6.1 ECO38 Series
38 Series
[Nm] £ 7% Replacement
Application Screw type Tightening parts cat.
Torque reference
S M12 X 496 100 + 10%
Cover rod 28
L M12 X 705 100 £ 10%
Fastening of 55 mm exciter stator (without
M8 X 70 CL. 8.8 25 10
PMG)
Fastening of 55 mm exciter stator (with PMG) M8 X 70 CL. 4.8 25 10
Fastening of exciter rotor M8 X 30 CL. 8.8 21 163
IP2X protection of front cover M5 X 30 CL.4.8 33 39
Back Grid M6 X 16 CL. 8.8 9 1
Terminal Block M6 X 30 CL. 8.8 9 5
Fastening the terminal block to the frame M6 X 16 CL. 8.8 9
terminal box M6 X 16 CL. 8.8 12 2,95, 96,97
Back cover ground wire M10 X 20 CL. 8.8 48 7
Rotor bracket M5 X 50 CL. 8.8 3.5 14
Fan fastening M10 X 50 CL. 8.8 38 15
Regulator M4 X 25 CL. 4.8 1 23
M5 X 12 CL.4.8 1.7 11
Diode bridge
M5 X 16 CL.4.8 1.7 11
Flywheel
Flywheel 11.5 M12 X 55 CL. 8.8 80 60
Flywheel 14 M12 X 30 CL. 8.8 80 60

[-M W
meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 114




Code: en_GB Self-regulated Alternators

Date: 08108117 15:47 Series ECO 38-40-43-46 ENGLISH
38 Series
[Nm] £ 7% Replacement
Application Screw type Tightening parts cat.
Torque reference
Optional
Fastening of paralleling device M4 X 16 CL. 4.8 1
Terminal block for paralleling device M3 X 16 CL. 4.8 0.5
Terminal block for accessories M3 X 25 CL.4.8 0.5
Front IP45 air filter M5 X 16 CL. 8.8 5
Back IP45 air filter M6 X 16 CL. 4.8 9
M4 X 10 CL. 4.8 15
PMG M8 X 90 CL. 8.8 25
M14 X 188 120+ 10%

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 115




gggi:;:_fB Self_—regulated Alternators ENGLISH
Date: 09/05/17 15:47 Series ECO 38-40-43-46
9.6.2 ECOA40 Series
40 Series
[Nm] £ 7% Replacement
Application Screw type Tightening parts cat.
Torque reference
S M16 X 640 180 £ 10%
Cover rod 28
L M16 X 805 180 £ 10%
Fastening of 70mm exciter stator M8 X 90 CL. 8.8 25 10
IP2X protection of front cover M5 X 25 CL. 4.8 3.3 39
Back Grid M6 X 16 CL. 8.8 9 1
terminal box M6 X 16 CL. 8.8 12 2,95,96,97
Fastening the terminal block to the frame M6 X 16 CL. 8.8 9 142
Weight on frame M16 X 30 CL. 8.8 180 + 10% 8
Rotor bracket M8 X 70 CL.8.8 18 14
Terminal Block M6 X 35 CL. 8.8 9 5
Fan fastening M10 X 50 CL. 8.8 40 15
Regulator M4 X 25 CL. 4.8 1 23
Fastening of paralleling device M4 X 16 CL. 4.8 1
Paralleling device terminal block M3 X 25 CL. 4.8 0.5
M5 X 25 CL.4.8 3.3 11
Diode bridge M5 X 20 Brass 3.3 11
M5 X 25 Brass 3.3 11
Flywheel
Flywheel 14 M16 X 45 CL. 8.8 200 + 10% 60
Flywheel 18 M16 X 40 CL. 8.8 200 £ 10% 60
mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 116




Code: en_GB Self-regulated Alternators

Revision: 0 . ENGL'SH
Date: 09/05/17 15:47 Series ECO 38-40-43-46
40 Series
[Nm] £ 7% Replacement
Application Screw type Tightening parts cat.
Torque reference
Optional
Accessory terminal block M3 X 25 CL. 4.8 0.5
Front IP45 air filter M5 X 16 CL. 8.8 5
Back IP45 air filter M6 X 16 CL. 8.8 9
M5 X 10 CL.4.8 5
M6 X 80 CL. 8.8 9
PMG
M8 X 100 CL. 8.8 25
M14 X 227 120+ 10%

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 117




gggi:;:_fB Self_—regulated Alternators ENGLISH
Date: 09/05/17 15:47 Series ECO 38-40-43-46
9.6.3 ECOA43 Series
43 Series
[Nm] £ 7% Replacement
Application Screw type Tightening parts cat.
Torque reference
Fastening of 80mm exciter stator M8 X 100 CL. 8.8 25 10
Front Cover M14 X 50 CL. 8.8 120 + 10% 9
Back cover M14 X 70 CL. 8.8 120 + 10% 7
terminal box M6 X 16 CL. 8.8 12 2,95,96,97
Fastening the terminal block to the frame M6 X 25 CL. 8.8 9
IP2X protection of front cover M5 X 25 CL. 4.8 33 39
Fastening of terminals to bearing M6 X 45 CL.10.9 9 140
Fastening of cable terminals M10 X 40 CL. 8.8 48
Fastening bridge to terminals (phase L1, L2, L3) M10 X 50 CL. 8.8 48 141
Fastening bridge to terminals (star point) M10 X 60 CL. 8.8 48 141
3-plate terminal block support bracket M6 X 25 CL. 8.8 9 139
Terminal board support bracket M8 X 40 CL. 8.8 12 139
Back grease protection ring M12 X 85 CL.8.8 100 £ 10%
Front grease protection ring M6 X 80 CL. 8.8 9
Back V-shaped closure M6 X 16 CL. 8.8 9 94
Fastening of exciter rotor M8 X 35 CL. 8.8 21 13
Fastening of balancing ring M8 X 20 CL. 8.8 21
Back cover ground wire M16 X 30 CL. 8.8 180 + 10% 7
Rotor bracket M10 X 75 CL. 8.8 35 14
Regulator M4 X 25 CL. 4.8 1 23
Fastening of paralleling device M4 X 16 CL. 4.8 1
Terminal block for paralleling device M3 X 25 CL. 4.8 0.3
M5 X 25 CL. 4.8 33 11
Rotating diode bridge M5 X 20 Brass 33 11
M5 X 25 Brass 3.3 11
A4
mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 118




gggi:;:_fB Self_—regulated Alternators ENGLISH
Date: 09/05/17 15:47 Series ECO 38-40-43-46
43 Series
[Nm] £ 7% Replacement
Application Screw type Tightening parts cat.
Torque reference
Flywheel
Flywheel 14 M16 X 55 CL. 8.8 200 + 10% 60
Flywheel 18 M16 X 40 CL. 8.8 200 + 10% 60
Flywheel 21 M16 X 40 CL. 8.8 200 + 10% 60
Optional
Accessory terminal block M3 X 25 CL. 4.8 0.5
Front IP45 air filter M5 X 16 CL. 4.8 3.3
Back IP45 air filter M6 X 16 CL. 8.8 9
M5 X 10 CL.4.8 3.3
M6 X 80 CL. 4.8 9
PMG
M8 X 100 CL. 8.8 25
M14 X 227 120 + 10%
M10 X 40 CL. 8.8 48
M10 X 50 CL. 8.8 48
Terminal block bridge for transformer M10 X 60 CL. 8.8 48
M5 X 20 CL. 4.8 2
M6 X 30 CL. 8.8 9
A4
mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 119




Code: en_GB Self-regulated Alternators

Date: 08108117 15:47 Series ECO 38-40-43-46 ENGLISH
9.6.4 ECOA46 Series
46 Series
[Nm] £ 7% Replacement
Application Screw type Tightening parts cat.
Torque reference
Fastening of 120mm exciter stator M8 X 140 CL. 8.8 25 10
Front Cover M14 X 70 CL. 8.8 120 + 10% 9
Back cover M14 X 70 CL. 8.8 120 + 10% 7
terminal box M6 X 16 CL. 8.8 12 2,95,96,97
Fastening the terminal block to the frame M6 X 25 CL. 8.8 9
IP2X protection of front cover M5 X 25 CL. 4.8 33 39
Fastening terminals to bearing M6 X 45 CL.10.9 9 140
Fastening of cable terminals M10 X 40 CL. 8.8 48
Fastening bridge to terminals (phase L1, L2, L3) M10 X 50 CL. 8.8 48 141
Fastening bridge to terminals (star point) M10 X 70 CL. 8.8 48 141
3-plate terminal block support bracket M8 X 40 CL. 8.8 12 142
Terminal board support bracket M8 X 35 CL. 8.8 12 142
Back grease protection ring M6 X 85 CL. 8.8 9
Front grease protection ring M6 X 100 CL. 8.8 9
Back V-shaped closure M6 X 16 CL. 8.8 9 94
Fastening of exciter rotor M8 X 35 CL. 8.8 21 13
Fastening of balancing ring M8 X 20 CL. 8.8 21
Back cover ground wire M16 X 30 CL. 8.8 180 + 10% 7
Rotor bracket (only 4 poles) M10 X 80 CL.8.8 43 14
Rotor bracket (only 6 poles) M10X 110 CL. 8.8 43 14
Regulator M4 X 25 CL. 4.8 1 23
Fastening of paralleling device M4 X 16 CL. 4.8 1
Terminal block for paralleling device M3 X 25 CL. 4.8 0.5
M5 X 25 CL. 4.8 33 11
Rotating diode bridge M5 X 20 Brass 33 11
M5 X 25 Brass 3.3 11

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 120




Code: en_GB Self-regulated Alternators

Date: 08108117 15:47 Series ECO 38-40-43-46 ENGLISH
46 Series
[Nm] £ 7% Replacement
Application Screw type Tightening parts cat.
Torque reference
Flywheel
Flywheel 18 M16 X 40 CL. 8.8 200 + 10% 60
Flywheel 21 M16 X 40 CL. 8.8 200 + 10% 60
Optional
Accessory terminal block M3 X 25 CL. 4.8 0.5
Front IP45 air filter M6 X 20 CL. 8.8 9
Back IP45 air filter M6 X 16 CL. 8.8 9
M5 X 10 CL. 4.8 3.3
M6 X 80 CL. 4.8 9
PMG
M8 X 150 CL. 8.8 25
M14 X 267 120+ 10%
M10 X 40 CL. 8.8 48
M10 X 50 CL.8.8 48
Terminal block bridge for transformer M10 X 70 CL. 8.8 48
M5 X 20 CL. 4.8 2
M6 X 30 CL. 8.8 9

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 121




Code: en_GB
Revision: 0
Date: 09/05/17 15:47

Self-regulated Alternators
Series ECO 38-40-43-46

ENGLISH

9.7 Disc Tightening Torques

In case of replacement of discs, the appropriate tightening torques are indicated here (fastening discs to hub).

ECO38-40-43-46

dis_ECO_011-r00

Screw size Tightening Torques (Nm)
Type SAE L
TE TCCEI CL. 8.8 CL. 129
11% 39,6 M12x45-8.8 / 80+ 7% /
ECO38
14 25,4 M12x30-8.8 / 80+ 7% /
14 25,4 M16x45-8.8 / 200 + 10% /
ECO40
18 15,7 M16x40-8.8 / 200 + 10% /
14 25,4 M16x55-8.8 / 200 + 10% /
ECO43 18 15,7 M16x40-8.8 / 200 + 10% /
21 0 M16x40-8.8 / 200 + 10% /
18 15,7 M16x40-8.8 / 200 + 10% /
ECO46
21 0 M16x40-8.8 / 200 + 10% /
9.8 Terminal block Tightening Torques
THREAD DIAMETER TYPE TIGHTENING TORQUE
Df (Nm)
ECO43
M10 (Steel) ECode 48 + 7%
M16 ECO38 80+7%
M20 ECO40 100+ 7%
A4
meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 122




Code: en_GB
Revision: 0
Date: 09/05/17 15:47

Self-regulated Alternators

Series ECO 38-40-43-46 ENGLISH

10 DSR / DER1 alarm management

The state of the active alarms is visualized at location 38 that may be read through USB.

The index of the bits that present value 1 correspond to an active alarm.

If the regulator is working regularly (no active alarm) the B11 bit will result active.

During normal operation a LED indicator mounted on the card flashes with a 2 second period and 50% duty cycle.

N. | Event description Action

1 | EEprom Checksum Restoring default data, Block

2 | Overvoltage APO

3 | Undervoltage APO

4 | Short circuit APO, Maximum current, Block

5 | Excitation Overcurrent APO, Reduction of Excitation Current
6 |Low speed APO, V/F Ramp

7 | Overspeed APO

8 | Underexcitation /loss of excitation APO

In case of intervention or signaling of any alarm there are different flashing modes available, as shown in the figure below.

§ LeD

O LED ON

LED OFF I LED ON ‘

CHECKSUM

QO0aann

NO0O00000000000n

SHORT CIRCUIT

AMP i

1

Hzor 0.5

OO00000

I0000no
T ‘

AMP and (Hz or O S.)

O0

o

Allarm intervention

dis_ECO_012-r00

A
mecc alte

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

123



Code: en_GB
Revision: 0
Date: 09/05/17 15:47

Self-regulated Alternators

Series ECO 38-40-43-46 ENGLISH

10.1 DSR/DER1 digital regulator alarms

ALARM DESCRIPTION

Event .
description Action
It is checked on start (after the DSP reset and the launch of the peripheral devices).
Erroneous | The actions taken are: signaling, loading default settings, saving in EEPROM and blocking the
EEPROM regulator.

control code

Upon restart, if EEPROM is faulty, the alarm will be repeated, otherwise the regulator will start
to operate on default parameters.

Overvoltage

The alarm does not determine a change in the LED flash, enables APO output and is memorized.
It may be caused either by anomalous operating conditions (such as overspeed or capacitive
load) or by any fault in the regulator.

The overvoltage alarm is activated only if the angle has already been reduced to zero and,
therefore, output voltage control has been lost.

Overvoltage is calculated using an appropriate window, based on the speed and it is inhibited
during the transients, for 2 sec.

In the calculation window the threshold is set to 5% above the nominal value.

Undervoltage

(@ wN)

The alarm does not determine a change in the LED flash, enables APO output and is memorized.
Undervoltage is calculated using an appropriate window based on the speed (visible in the
undervoltage alarm description), the threshold is set to 5% under the nominal value; it
intervenes only above the intervention threshold of the low speed alarm, it basically is inhibited
by it.

It is also inhibited in case of intervention of the "excitation overcurrent" alarm and during
transients.

Short circuit

The alarm is disabled under 20Hz and visualized and memorized when action is activated.
Tolerated short circuit time goes from 0.1 to 25,5 seconds (programmable in 100ms steps); then
the regulator, after having saved DD and TT, turns to block mode and signals the STOP status.
With the "short circuit time" parameter set to zero, the block is disabled.

The reduction of the angle may cause an excitation drop, with a consequent stop and
subsequent restart of the regulator and then the cycle is repeated.

Excitation
Overcurrent

This alarm's function is not only to signal a state of excess accumulation of heating of the exciter,
but also an active function of elimination of the cause.

There is in fact a regulation ring that takes over after a threshold is exceeded; the action
determines the reduction of the excitation current and then of the output voltage.

The available parameter is the "threshold", which determines, in the end, the balance value at
which the system stabilizes.

The alarm is signaled and memorized.

For the adjustment see paragraph "Excitation overcurrent".

Low speed

(Immediate) Signaling and activation of the V/F ramp.

This alarm also appears at start and at stop.

The alarm does not trigger data saving in EEPROM.

The alarm intervention threshold depends on the 50/60 jumper status (hardware or software)
and on the Hz trimmer position or on the value of parameter 21.

Under the threshold the V/F ramp is present.

A
mecc alte

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

124



Code: en_GB
Revision: 0
Date: 09/05/17 15:47

Self-regulated Alternators
Series ECO 38-40-43-46

ENGLISH

ALARM DESCRIPTION

Event
description

Action

7 Overspeed

It is visualized similarly to the low speed alarm, it does not trigger actions on control and it is
memorized.

The overspeed condition may cause, as in the case of capacitive load, an overvoltage.

The threshold may be set through parameter 26.

Underexcitation
8 /loss of
excitation

The alarm does not determine a change in the LED flash, enables APO output and is
memorized.

The alarm condition is recognized by a underexcitation / loss of excitation observer, available
for reading at location L[56]: if the value of L[56] is higher than the upper (fixed) threshold or
lower than the value of the lower threshold (parameter P[27]), A-08 is activated.

The alarm is inhibited during transients.

A
mecc alte

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

125



Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 126




Code: en_GB
Revision: 0
Date: 09/05/17 15:47

Self-regulated Alternators

ENGLISH

Series ECO 38-40-43-46

11 Problems, causes and solutions

Defect

Cause

Remedies

The alternator does not

excite.

Faulty fuse.

Check the fuse and if necessary replace it.

Faulty diodes.

Check the diodes and if necessary replace them

(see paragraph 9.5.2).

Speed too low (lower than nominal speed).

Adjust the speed to the nominal value.

Residual magnetism too low.

Adjust the speed to the nominal value.

The alternator de-
excites after excited
state.

Connection cables damaged or disconnected.

Check the state and correct fastening of cables.
Check the correct connection of cables using the
attached drawings.

At no load low voltage

Regulator is not adjusted.

Readjust the voltage and/or stability. (see
paragraph 8.1.1 and 8.2.1).

Faulty regulator.

Replace the regulator.

Speed lower than nominal speed.

Check the number of rotations.

Damaged windings.

Check windings. (see paragraph 9.5.14 and
9.5.6).

At no load voltage is too
high.

Regulator is not adjusted.

Readjust the voltage and/or stability. (see
paragraph 8.1.1 and 8.2.1).

Faulty regulator.

Replace the regulator.

At load, voltage is lower

than nominal voltage.

Regulator is not adjusted.

Readjust the voltage and/or stability. (see
paragraph 8.1.1 and 8.2.1).

Faulty regulator.

Replace the regulator.

Current is too high, cos ¢ lower than 0.8, speed

lower than 4% nominal speed.

Operating outside the standard parameter
range. Adjust the alternator back to standard

parameters.

Faulty diodes.

Check the diodes and if necessary replace them
(see paragraph 9.5.2).

At load, voltage is
higher than nominal

voltage.

Regulator is not adjusted.

Readjust the voltage and/or stability. (see
paragraph 8.1.1 and 8.2.1).

Regulator is not adjusted.

Replace the regulator.

A
mecc alte

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

127



Code: en_GB
Revision: 0
Date: 09/05/17 15:47

Self-regulated Alternators

ENGLISH

Series ECO 38-40-43-46

Defect

Cause

Remedies

Unstable voltage.

Instability of the drive motor rotation speed.

Check uniformity of the drive motor rotation
speed.

"STAB" potentiometer of the regulator not
adjusted.

Adjust stability of the regulator by turning the
"STAB" potentiometer. (see paragraph 8.1.1 and
8.2.1).

High bearing

temperature.

Scarce or too much bearing lubrication.

Check amount of grease (see paragraph 9.4.1).

Damaged bearing.

Replace the bearing (see paragraph 9.5.8).

Shaft Misalignment.

Check alignment (see paragraph 5.3.2).

Temperature of cooling

Ambient temperature is high.

Check the ventilation in the room to ensure

correct temperature.

Air backflow towards the machine.

Check for presence of obstructions around the
machine.

air is high. Aspiration of obstructed area. Check the air vents.

Heat source nearby the air vents. Move heat source or machine.

o . Clean or replace the air filter (see paragraph
Air filter is clogged.
9.3.2).

Damaged bearings. Replace bearings (see paragraph 9.5.8).

Unbalancing/break of cooling fan. Check/replace cooling fan (see paragraph 9.5.1).
Vibration

Inefficient base-attachment system.

Check attachment system.

Misalignment between alternator and drive
motor.

Check alignment between alternator and drive

motor (see paragraph 5.3.2).

L[]
For any other anomaly please contact the reseller, in the authorized service centers or directly at Mecc Alte.

A
mecc alte

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

128



Code: en_GB Self-regulated Alternators

Dete. 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH
12 Electrical diagrams
Regulator type Connection Drawing No.
DSR 12 terminals - single-phase reference SCC0062
DSR 12 terminals - single-phase reference SCC0063
DSR 12 terminals - single-phase reference SCC0064
DER1 12 terminals - single-phase reference SCCo161
DER1 12 terminals - single-phase reference SCC0160
DER1 12 terminals - three-phase reference SCC0159
DER1 12 terminals - three-phase reference SCC0158
DER1 12 terminals - single-phase reference SCC0202
DER1 12 terminals - ZIG-ZAG connection, single-phase reference SCC0203
DSR 12 terminals - with PMG, single-phase reference SCC0155
DER1 12 terminals - with PMG, single-phase reference SCC0231
DER1 12 terminals - with PMG, single-phase reference SCC0232
DER1 12 terminals - with PMG, three-phase reference SCC0234
DER1 12 terminals - with PMG, three-phase reference SCC0235
SR7 6 terminals - single-phase reference A2544
UVR6 6 terminals - single-phase reference A2550
SR7 12 terminals - single-phase reference A2545
UVR6 12 terminals - single-phase reference A2549
UVR6 6 terminals - three-phase reference A2548
UVR6 12 terminals - three-phase reference A2552
SR7 12 terminals - ZIG-ZAG connection, single-phase reference SCC0055
UVR6 12 terminals - ZIG-ZAG connection, single-phase reference SCC0054

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 129




Code: en_GB

Self-regulated Alternators

Revision: 0 . ENGLISH
Date: 09/05/17 15:47 Series ECO 38-40-43-46
12.1 DSR digital regulator electrical diagrams
SCCO062: Alternators with 12 terminals with reference on half phase from 70 V to 140 V.
YEERE) g
: ()] M~ i (28] - %
L ] L L ] p §
=
o,
o
NOVg =
c
__________ o
| T
e ! 8 'l
:Q. l Igllﬂléllz.lll:l,lﬂal TUTITETSTRIETSTLT
8 ) IRRENEEREEE
b= = =N SC
|
[= I:l_
@] |
= i = Ipra
el e o — [ ]
r =7 =R O
| 1P O 0) O < s
a e STy o
L BB 1 P 3
| e === _ | B[® =
| Ked's0 O] |
| I
| |
|5 |
= |
152 |
L SO J
W
meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 130




Code: en_GB Self-regulated Alternators
Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

SCCO063: Alternators with 12 terminals for star or delta connections, reference on the entire phase from 140 V to 280 V.

\NEER D)

—
- D M~ (Lo |
» [ I

sch_SCC0063-03_001-r00

r———t — —

I I T A I iy
- | a3y
: *
< |
I |
| |

N N _ s ] a3y

=

IN

| |
| |
| |
| L |
o .
o [
|CJI |
(Tp]
Ia |
e ‘ =
| |
R I
IO |
| |
1 1
L 4 L] L] =
N O o w < (o] L
— i L
G
A0vd
c
x
[ —————————— ™ 2
N [
I
I 5!
= £ hy
< R R
Ia- IQIIHIELIZLII‘IIOLI T ZTETSTFTET ¢ TLT
= |
5 NEEERENEN| |
b=
=
0
o
|

[ 1]
| 1Pof OIS
28] o = wl®
| %:ﬁ%ﬁﬁ
| §eSs0 U] |
" ‘
s N

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 131




Code: en_GB Self-regulated Alternators
Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

SCCO064: Alternators with 12 terminals with reference on half phase from 140 V to 280 V.

/ EERE)
i

- O M~ m S

L ] L ] L L

sch_SCC0064-03_001-100

1 1 1 1 1
-~ [ a3y
: '
< |
g |
|
P NS PN A [ Tl a3y
B
|
=
=
I L
IC) L4
Hl=]
N
IDI
| |a-
|
I =
=2
o
|
L O U D Y |
by [ ] [ L L Z
o~ O o w < o~ (W]
— [WH]
[«
SOV 1g ¥
(o]
x
S = =
| I
| | 2!
‘E | 7 I—‘}“ et e
I | { o N il
‘Z | T R E T IO B T U [T B IS TP ET ¢ LT
S | g Ea
I = — =]
5 x| ]
= ! ] :|
e _lr = C
Tt T B ‘ O
N B isisalnbliniiing B
I } | (] ©c§: ” w3
| | | & 1
I —_— e —————— @ = .':‘ >
| =
|
ln:
|
=
Q
3
-~

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 132




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

12.2 DER 1 digital regulator electrical diagrams

SCCO0161: Alternators with 12 terminals, 150 V - 300 V single-phase sensing.

\EEE D]
I~ T
' |
I |
Iz |
& ,
| |
L] I

sch_SCC0161-03_001-r00

I_ __________
[
=
[
1o me
e
A
| o
I =
| =
)
[
[
)
L L ] [ ] L ] L
42| 3 0 W o~
i —t—— —
= |
|& '
|Z |
= |
'—
Iz | & |1
|2 |
=1
I I 5 2
I| |I 5 E
=a]
||_ _____ ]!
| |
| |
| |
Ig |
[& — 7 N
— ~— o~
N o N
| [ ] [+
Z212026L8BL/ZLOLSLYPLELZLILOLB B 2 9 [ L
@) I
(=]
[ ] I o5
00 E]DDDD[]D 2
= D
. N
2 I8
L DE]DDDDDD
1
e r
S
re—rie——tia
s O
O
1
& 1
—
{—
mece alle FEG, TYPE DEA

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 133




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

SCC0160: Alternators with 12 terminals, single-phase reference from 75V to 150 V.

9 e N~ i o t-l g
N3349 g
&
@
if 1
|ec
2
<<
I
|
LT 1 _[1__—
I _____
|
|
2
| o me
|D
S i
T3]
Ila
[ “I
=
| &
| .
1
L ] L ] 3 4
g S © O <t o~
r _____ —1
1= l
|& I
|z |
12 '
=
-
12 l
e
i I =
i J)
Lo |
|g |
k=) |
I —— 11
b S g d
L

/zz TZ0Z B Gl
©

BLUE
YELLOW

JP1 60 Hz
|
=
-
)
f—

¥
JPZ[‘
[

meece alle BEG, TYPE DER

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 134




Code: en_GB Self-regulated Alternators

Revision: 0 . ENGLlSH
Date: 09/05/17 15:47 Series ECO 38-40-43-46
SCC0159: Alternators with 12 terminals, three-phase reference from 150 V to 300 V.
9 ~u;n ;oo g
I b L ] b\ L E
EERP] 5
T g
EER ) §
[ - - _____'___|
| | am
o
o |
I= |
2 |
| |
-1 __2 a3y
I |
| |
I > [
= |
o |
12 |
e !
| 1
s e I
e |
| |
bl Wb g e e .
{1 V7
N9 ®w o o~
——— ]
I |
| [
(= |
12 |
Iz | & |
12 |
| I vl oz o =z M =
! I 2 B9 B R &
l | 3 23 & B =
||_ _____ —'I @ O @ G
|
[ |
| |
g |
I —— ||
S o N A s N —
/I,LZDZS 8L ZL 9L SL ¥l €L ILDL 6 B8 I 8 [2 L
@I : 1 ]I I
b ol P o
= LY
o= 8 L] .
DD .
OF=
= z
maece =lle RE@. TYPE DER
' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 135




Code: en_GB Self-regulated Alternators

Revision: 0 . ENGLlSH
Date: 09/05/17 15:47 Series ECO 38-40-43-46
SCC0158: Alternators with 12 terminals, three-phase reference from 75 V to 150 V.
9o N~ oo oo g
] L p =3
I h EERD) 5
33 9 g
EEND) 8
r I R I |
loe
o
<
‘v.n
\
L 1

o IN

ouT

i
PD500
I

12 o
10e
8-
be
4

| =
i I 58 o B 8
| | Snc ﬂoc ﬂ o
| | (0 =G o0 (&)
e =iy J]
- |
I |
Ig |
W~ — N
- M o~

21202 6L 8L /2L SLSLPL €L 2L LLOL G

-
Sl ool (S 5 N+
L [
1

(@)

=
1:—
o —
E—
o —
T
f o=
f—
L -
1:—
f —
YELLOW

ZELE0EBZBZLEOZSE FTEL

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 136




Code: en_GB Self-regulated Alternators
Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

SCC0202: Alternators with 12 terminals, single-phase reference from 300 V to 600 V.

n m
?
(EERD)
R I I
. | an
|
|
I
|

i
- @ ~

'

sch_SCC0202-01_001-r00

|ec
2
<C
[
[
Ll 1T L1 __- a3d
i A
I
[
1|2 H
gl
DI 2
| o =
o =
||
|
i
[} =]
| (@]
|
I
- [ [ ] L o
NS @0 %~
r _____ —1
I '
(-4
|& '
(-9
|z |
12 '
=
I & ||
12 JL
i 1T
i I s :
[TH)
i ! ~ %
|m——== _|:
l |
Im
5 |
g |
>
W 11
| L] o~
(=% N N

| —
Z 1202 6L 8L L SLSIPLEL 2L L Ol 6 8 7 8 L
@ L0 T oo @
— T = =

BLUE
YELLOW

ﬁ
2€ LE 0B 6282 /29262 ¥2 €2

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 137




Code: en_GB Self-regulated Alternators
Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

SCC0203: Alternators with 12 terminals, ZIG-ZAG connection, single-phase reference from 300 V to 600 V.

- D 8
? g
g
=+ —|—
|
le
I
=
v
|
L1_L
L
o~ o
i —
I"______
| &
| &
|Z
IQ
'—
|I§ | =
9] = ]
e 5 g
f=—
|l
[
[
II_ _____
ICE
| w
1S s N
| &
______ T
0L6 8 29 S

BLUE
YELLOW

60 Hz
™

7
‘M P4
]
ZE 1€ 0E 628222922 b2 EL

JP2

REG. TYPE DER

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 138




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

12.3 Electrical diagrams with PMG

SCCO155: Alternators with 12 terminals, with PMG, DSR regulator. (Terminal 4: reference from 140V to 280V, terminal 6:
reference from 70V to 140V).

N33FdO
: A M~ N m A
y y L ]

sch_SCC0155-01_001-r00

[ T S S A A .
P | G
12 '
I |
[ l
1
L__ 11 _J_[_[1__1 a3y
N
I £
|
|
=T
o
s}
|DI
a
|
=
3
1 i R R ), e
L L L [ _________
—
o |
Vg i
c oo
= (]2 gl
e | = 23
N -
= Sl &S
= o TIU E
E l—"H ‘d‘ gl él |+‘
Z IELWU!:!II'HI.IIDII 18] T IETI T¢IlT
)
'_
hat
@)
o

|
|
| B 2
5 B
| 8 =i
| o>
________ |
T | B
| N
| |
| 5 '
(NN}
15 '
O |
| <
| |
T ———————21
I IE, [RRNRNNNNY EE |1
I(_.,Lé% §§JI
|2_—_—_—_—_—_-=_|
& N OV
| |2 Ll
lL” (| 31IHM = |
e e i epwio == a3y [#4

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 139




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

SCC0231: Alternators with 12 terminals, with PMG, DER1 regulator, single-phase reference from 75V to 150V.

sch_SCC0231-01_001-r00

: L= T T T
1
(EEER)]
| | a3d
lec
e |
= I — .
L1 [ 11 : |
il |
i | I
I | I
I | |
I | |
! | |
| I |
| | |
| | |
I = | |
w
| o I |
1 © | |
| |
I I
L L [ [ o I |
|['2(_‘ l ] N O IE !
| a : 21202 6L 8L /L SLSLYL €L 2L 0L 6 8 [ S ¥ !; L |
3 |
12 | Aﬁ
16 5 I DD I e |
|~ J'I E]E]DE]DDD E] D | = Eln |
I | g E] Dﬂ E |
[ (! " |
1 ok 1l = |
| L |
| | I
| | = D = I
| | 8l |
Lo
O\ g i :
mece alle REG. TYPE DER |
|
P |
g z |
| |2 5l
| (i ESEWig |
|§|=“‘=====*=EJ| |
1=l . [ Movid I
|2 Ll |
Lo® 1 IAM _?H09 €2 +—————————— J
| e =l a3d zHoS <z

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 140




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

SCC0232: Alternators with 12 terminals, with PMG, DER1 regulator, single-phase reference from 150V to 300V.

i
?
NEEN D]

: - | a3
o |
= |
I -—————= |
| |

sch_SCC0232-01_001-r00

GREEN

12

10
8
Ge
e
Qe

YELLOW

nlCIGl

|__,_S__________::'|
| 2

| |E§ e £ 5 |I

iR — R

| &:_I I ovd

[ |

| ] ® | JOHM ZH09 €7 e———————— !
L SEsmsTTr ST T a3y zHOS ¢z

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 141




Code: en_GB

Self-regulated Alternators

Revision: 0 . ENGLlSH
Date: 09/05/17 15:47 Series ECO 38-40-43-46
SCC0234: Alternators with 12 terminals, with PMG, DER1 regulator, three-phase reference from 75V to 150V.
: O NN Mmoo L
3 E: 2
I N NI
NITHD
NEELE)
| L
5 |
I':t |
:5 | :_______I
|
e e el il I |
I = : |
| |
W= : |
I |
1| _% | I
e I |
iR | |
| I |
I |
1E gl |
1O w | I
i Ed oot © | I
| I
[ |
L L L
— | |
| |
N N i b L !
/ZZL 0 SL 8l Ll VL [ L 01 L E ¥ C 3 I
i W f |
[:_____| = = = \_© I
E | |
1= | GE |
= | 5 |
< | 2
I'é 5 | st 3 I
1] AN
I J|'| - J:fg I
[ I = |
|| || & = |
L 1l |
| | [
| o | I
| & | I
g [ |
et — |
E JGg | |
| op SESig | |
| ol2E __ _ _E2 ] I |
£ . I Sov1g I
|| g L '
I ® [ TOHM THO9 &7 e ———— d
I i e e i wl| a3y ZHOS €2
A
meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 142




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

SCC0235: Alternators with 12 terminals, with PMG, DER1 regulator, three-phase reference from 150V to 300V.

sch_SCC0235-01_001-r00

11
9
7
5
3
1

NI34D
[VEEE ]
N334D

STATORE |
-
|
—
|
| R
- — .
— Ve
.= .
|
|
o
o
1

——
|
[
]
T
|
|
|

IN

PD500

ouT

GREEN

BLUE
YELLOW

o
xd
r
5
o
o
r
o
N
fa
™
o
ro
o
e
=]
=t
™
~

ROTATION
PART

]

|

7

%
PERMANENT

w [ Mov1g
|2 |
I
| * | J1IHM THOG §Z - s e e

| s e e = a3d ZH0S <2

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 143




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

12.4 Electrical diagrams with UVR6 - SR7 regulators

A2544: Alternators with 6 terminals, with SR7 analog regulator.

0 m -~

4 L L
\ NIZHD IaH3A

sch_A2644-04_001-r00

—— 1 ——gJ——— a3y 0SS0y
| & o !
10O '
| == |
g |
me | a3y 0SSOy

8 z
B o
= 5
w
o
1
g
Ov18 0N G
| S S
© 8 N 2
Mo
F—— === A | =
| | |2
! ! I r
! I NEERRL IR
=t O P 14 S R
2
<5 ! Iy R,
1
10y I B NN
22 = 5
= I o
=< I ] = — gw
4 I o
1 < I o) {0 Zz0O
o i — 2%
e ____ | e b =
m U e
| | | -
| | | woe
b ! wu
P! ' o=
R S e J ! NN T T T 1 £
| | AP 1 _|sTARIvOLT <('|;£
| | )
| | ﬂ
! | Ll
1w | ¥
= I
(i |
1 :% I
) < . INg N1g
50 I
Rep |
L= ! MOTIIA O1VID
1 |
O N o SR Y J

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 144




ENGLISH

Self-regulated Alternators
Series ECO 38-40-43-46

Revision: 0

A2550: Alternators with 6 terminals, with UVR6 analog regulator.

Date: 09/05/17 15:47

Code: en_GB

00+L00” #0-0992Y U0

MOTI3A OTIVID

3N1g Ng

NIFFD 30H3A

J4-L/97H AN HOLYIND3Y JINOYL]3T3

< [ 1 I 9 - J-L/9°d"A'N OJINOYLLITI IHOLVIODIY
3 g a | 3
< 7 a2 3
L~ = =1 | | o
el | | =
i 3 3 Q| mma®®: R VRIS T - -
| |
| T LY rad) _7 IIIIIIIIIIIIII .“n IIIII I_ “
| L—- _. : : | | | _ |
/  — .| | i |
r — e e _
! ! _ _ ! _
. - ° | 18Vd NOILVLOH | | HILIDXT |
_ | JINVIOH ALdVd | ER I ABSEL
“ HOLV1S _ _l L I.hu ]
ENGIRZES NI - i
LT _

145

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

Ry
eccalte

Cm



ENGLISH

Self-regulated Alternators
Series ECO 38-40-43-46

Revision: 0

A2545: Alternators with 12 terminals, with SR7 analog regulator.

Date: 09/05/17 15:47

Code: en_GB

00FL00” #0-GFSTY oS

DZ-44S HO1vIND3Y JINOY1lI313
BZ-.L4¥S 0JINOHL1313 3HOLV10D3d
i i Cl: =il B
[ =
i o= M o
Y .“ = <
o c |z
N33O 30Y3A d =] |—= m
71 = =
H 09 g | —=
< R -y
7 z z U000l T2 = Ty
) w w =]
m w wn A =
o o o
Ey) vl A
m m m
m lw) (w}
b
S
_ [P mee S A
_ — F-———————————— = e |_ '
[}
| _ | " |
L \ _ z ! ! I 1
¢ t b | | | 1
e & . /(v _ 1@ T | K ! “
|
S e — I . _ ¢ _ _ "
Z _ L . Q _ _ ! _
|
6 @ — * Ol : _ ; !
L e - ezl 14Vd ONILVLOY | ! yILONT !
| I 3INVLIOY F1dvd 1 ! 1
| ¥01V1S e 4-——== - AJ1FLVLIDD3
L _3HOLVIS b e - -

146

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

Ry
eccalte

Cm



ENGLISH

Self-regulated Alternators
Series ECO 38-40-43-46

Revision: 0

A2549: Alternators with 12 terminals, with UVR6 analog regulator.

Date: 09/05/17 15:47

Code: en_GB

00FL00” #O-BFSTY oS

MOTIZA OTIVID
anTe Nia

Na38D Jd43A
<<
] 2 z o
= A &% S5
ghe =] - | =
= =] & r £ 1 = =
E o o | | = T
; ; 4179 8 A'N H0LvINO3Y JINO¥LIT3
: i 4-1/9 4 AN 0JINOY¥LLTS m_moz.._oumm_
1 |
1 |
| |
: P! I [ A A
| | F——— e —— === A A !
[ Iy _ I ! ! |
F\ | | N | N | | | |
/ | | N | | | |
£ n | 7 | ! _
| |
m Il 1 0 | == IEV i |
_ ! I . | I _ I
Z [ I 8 | I
_ ! | _ | [
& * T T nD_\_ “ | “
_ L o | 14¥vd NOILYLOY |
L _ ] Zh [ JINVIOY Fldvd | 1 !
| golvis . TTTTTTTTTTEEETT T [ HILIDOX3
L _ JHOLlVIS | [ ERIISINANBE I
L e e e e e e e e e |

147

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

Ry
eccalte

Cm



Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

A2548: Alternators with 6 terminals, three-phase reference with UVR6 analog regulator.

n m 4
\ [YEEERREMEEN]

N30 IR
N3349 30H3A

r 1
| We I U39 05508
| §© |
O
| E<« |
<
[ ke |
| » |
L

034 0SSOy

sch_A2548-05_001-r00

0 \,\N OV 18 0daN

Xv7d 0daN

JIVId OYaN

VERDE GREEN

PARTE ROTANTE
ROTATION PART

BLU BLUE
GIALLO YELLOW

REGOLATORE ELETTRONICO U.V.R.6/1-F
ELECTRONIC REGULATOR U.V.R.6/1-F

ECCTATRICE
EXCITER

-

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 148




ENGLISH

Self-regulated Alternators
Series ECO 38-40-43-46

Revision: 0

A2552: Alternators with 12 terminals, three-phase reference with UVR6 analog regulator.

Date: 09/05/17 15:47

Code: en_GB

00FLO0 02558 UoS
MOT11dA OTIVID
3Nn7g n1g
UX 00L
c 58 OB E_ Olo
zHool _ B — [ 3
3 B3] |4
t4-4
[ S RO, — (=
—.M pa
T Ao
1293 R
O = i1 9@
.M_ M ﬂ Pl el =z |Z |Z
= 3 2 2 2 333 4-1/9 ¥ A'N ¥OLYIND3Y I INOY¥LIIT3
m |m |m 2] =z M M N 4=1/9°4°A'N 0JINOYL13IT3 JHOLVYI0D3IY
D 12 |13 o o 515 %
M 0 @ S S 2R |R
Z |Z |Z
"| ||||||| [ T e i e =
‘o ((( ||| reeeeemeeeo R |
| r i K i
l o “ ol | " | _
4 — A _ |
= _ 7 : | :
| |
Se L — °s | T | K i _
| I ! I |
. E— .
L 1 8 * : | _
| | |
6 — oL | " _ |
L | — ez, | 14vd NOILV.OY | ! |
" ] JINVLOY 3ldvd | | G715
, doivis oo TTTTTmTmmmmmmm T e ERISTRANSRE}
L FOLVIS (IR et s

149

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

Ry
eccalte

Cm



Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

SCCO055: Alternators with 12 terminals (ZIG ZAG connection), with SR7 analog regulator.

(1)) 1] v §
N30 J0u3A 5
Cnm
! ! 0V 1@ 043N
r——--|- F-T1-1-F—--1
I T 03Y9 0SS0y
@Dﬁ |
o
|E|_ |
|<'<_E |
I= I
n |
L___-L_ILJd_J_L __- 035 ossoy
-
=
L
L
[id
(L}
Ll
n
&
NJO 00 ¢ |N >
= b
F—— === == ==== T x
| I 2
I [ i
IEF I — |0\
:ZEE: : m e LN
| | He] e[S T [ 1
19Z [ -
18 | 2, HOLTIRnnnnny .
| | N O
s A 5 d
| | s
& | %= n=——| Jz
[ | =5 == =R
! I g @ S
T e v Pt e £3 O| o 2
| | wo o <
L P! o 1 @ 0
I I
| | wu
o P! 5% L
! I P! = I
| | ou
i I L o 5
L e ———_ __ J o : E
| i T 117
W [
= I
I
o
I < |
I == T
[l |
| WX I
e 2

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 150




ENGLISH

Self-regulated Alternators
Series ECO 38-40-43-46

Revision: 0

SCC0054: Alternators with 12 terminals (ZIG ZAG connection), with UVR6 analog regulator.

Date: 09/05/17 15:47

Code: en_GB

00100 LO-¥500008 Uos

MOTI3A OTIVID
3n1g n1e

cZ
N3349 3043A Ld
(4
f
& 2 2
< - % % dL/9°d4°AN HOLVIND3Y D INOY1I313
M = 5 s d4L/9°4°A'N 0JINOYLL3T3 3IHOLVI0D3Y
o 8 =
: o H— - R I ;
L —" | 5 [T d------ 4 |
| |
| — . ! ! ! "
S ! !
_ | 7| _ | _
— — ol ! G i ! |
.|.II_ “ (&) | I |
| | I |
" A " oL “ i “ _
A ——
1 | | |
| | N_\ “ | " |
| | LYVd NOILVLOY | [
| m_@oomﬁmm _ 3 JINVLIOY J18Vd | a _
L —Sidiee ur AT H3110X3!
g ERINAIBRE]

151

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

Ry
eccalte

Cm



Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 152




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

13 Replacement parts

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 153




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

13.1 ECO 38A Construction type MD35

Tav_A9491-00_ECO36A_MD35_001-00

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 154




Code: en_GB Self-regulated Alternators

Date: 08108117 15:47 Series ECO 38-40-43-46 ENGLISH
ECO 38 List of replacement parts
Item Name Item Name
1 |Back latch 28a | Coverrod S
2 | Protective cover 28b | Coverrod L
U1-V1-W1 use terminal block 39 |Single-bearing protective net
’ U2-V2-W2 use terminal block 59 | Flywheel disc holder hub 14-11 1/2
7 | Back cover SAE Discs 14
60
8 | Frame with stator SAE Discs 11 1/2
SAE 0.5 75a | Cable gland rubber washer
SAE 1 75b | Cable gland rubber washer DG 21
9 | Front Cover MD35
SAE 2 94 | Back carter
SAE 3 95 | Terminal block side panel
10 | Exciter stator 96 | Terminal block front panel
11 | Rotating diode bridge 97 | Terminal block back panel
13 | Exciter rotor 98 | Regulator holder panel
14 | Rotating Inductor 99 | Disc blocking ring
15 |Fan 163 | Blocking washer
19 | Back bearing 178a | EPDM rubber profile size 8.5x5.5mm
23 | DSR Electronic Regulator 178b | UL EPDM+SP reinforced profile size 15.6x8.4mm

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 155




Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

13.2 ECO 38A Construction type B3B14

Tay_A9403-00_ECO28A_BAB14_001-100

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 156




Code: en_GB

Revision: 0

Date: 09/05/17 15:47

Self-regulated Alternators
Series ECO 38-40-43-46

ENGLISH

ECO 38 List of replacement parts

Item Name Item Name
1 |Back latch 28a | Coverrod S
2 | Protective cover 28b | Coverrod L
U1-V1-W1 use terminal block 39 | Double-bearing protective net
’ U2-V2-W2 use terminal block 75a | Cable gland rubber washer
7 | Back cover 75b | Cable gland rubber washer DG 21
8 | Frame with stator 94 | Back carter
9 | Front Cover B3B14 95 | Panel on terminal block side
10 | Exciter stator 96 | Terminal block back panel
11 | Rotating diode bridge 97 | Terminal block back panel
13 | Exciter rotor 98 | Regulator holder panel
14 | Rotating Inductor 99 | Disc blocking ring
15 | Fan 163 | Blocking washer
17 | Front bearing 178a | EPDM rubber profile size 8.5x5.5mm
19 |Back bearing 178b | UL EPDM+SP reinforced profile size 15.6x8.4mm
23 | DSR Electronic Regulator

A
mecc alte

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

157



Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

13.3 ECO 40B Construction type MD35

Tav_A 9386-00_ECO40A_MD35_001-r00

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 158




Code: en_GB
Revision: 0
Date: 09/05/17 15:47

Self-regulated Alternators
Series ECO 38-40-43-46

ENGLISH

ECO 40 List of replacement parts

Item Name Item Name
1 |Back latch 28b | CoverrodL
2 | Protective cover 28c | Cover rod VL
U2-V2-W2 use terminal block 39 |Single-bearing protective net
’ U2-V2-W2 use terminal block 42 | Paralleling device
7 Back cover 59 | Flywheel disc holder hub 14-11 1/2
8 | Frame with stator SAE 14 Discs
60
SAE 1 SAE 18 Discs
SAE 0.5 75a | Cable gland rubber washer

9 | Front Cover MD35

SAEO 75b | Cable gland rubber washer DG 21

SAE 00 94 | Back carter
10 | Exciter stator 95 | Panel on terminal block side
11 | Rotating diode bridge 96 | Terminal block back panel
12 | Exciter blocking hub 97 | Terminal block back panel
13 | Exciter rotor 98 | Regulator holder panel
14 | Rotating Inductor 99 | Disc blocking ring
15 |Fan 142a | Left support bracket
19 | Back bearing 142b | Right support bracket
23 | DER1 Electronic Regulator 178a | EPDM rubber profile size 8.5x5.5mm

28a | CoverrodS 178b | UL EPDM+SP reinforced profile size 15.6x8.4mm

A
mecc alte

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

159



Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

13.4 ECO 40B Construction type B3B14

Tav_A8404-00_ECO40A_B3B14_001-100

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 160




Code: en_GB

Revision: 0

Date: 09/05/17 15:47

Self-regulated Alternators
Series ECO 38-40-43-46

ENGLISH

ECO 40 List of replacement parts

Item Name Item Name
1 |Back latch 28b | CoverrodL
2 | Protective cover 28c | Cover rod VL
U2-V2-W2 use terminal block 39 | Double-bearing protective net
5
U2-V2-W2 use terminal block 42 | Fastening of paralleling device
7 | Back cover 75a | Cable gland rubber washer
8 | Frame with stator 75b | Cable gland rubber washer DG 21
9 | Front Cover B3B14 94 | Back carter
10 | Exciter stator 95 | Panel on terminal block side
11 | Rotating diode bridge 96 | Terminal block back panel
12 | Exciter blocking hub 97 | Terminal block back panel
13 | Exciter rotor 98 | Regulator holder panel
14 | Rotating Inductor 99 | Disc blocking ring
15 | Fan 142a | Left support bracket
17 | Front bearing 142b | Right support bracket
19 | Back bearing 178a | EPDM rubber profile size 8.5x5.5mm
23 | DER1 Electronic Regulator 178b | UL EPDM+SP reinforced profile size 15.6x8.4mm
28a | Coverrod S

A
mecc alte

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

161



Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

13.5 ECO 43A Construction type MD35

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 162




Code: en_GB
Revision: 0
Date: 09/05/17 15:47

Self-regulated Alternators
Series ECO 38-40-43-46

ENGLISH

ECO 43 List of replacement parts

Item Name Item Name

1 |Backlatch Flywheel disc holder hub 21

2 | Protective cover ” Flywheel disc holder hub 18

7 | Back cover SAE 21 Discs

60
8 | Frame with stator SAE 18 Discs
MD35 SAE 0 75a | Cable gland rubber washer
9 | Front Cover
MD35 SAE 00 75b | Cable gland rubber washer DG29

10 | Exciter stator 94 | Back carter

11 | Rotating diode bridge 95 | Panel on terminal block side

12 | Exciter blocking hub 96 | Terminal block back panel

13 | Exciter rotor 97 | Terminal block back panel

14 | Rotating Inductor 98 | Regulator holder panel

15 | Fan 99 | Disc blocking ring

17 | Front bearing 138a | Back lubricator tube

18a | Internal front flange 139 | Terminal board support bracket
18b | Internal back flange 140 | Aluminum terminal

19 | Back bearing 141a | Aluminum bridge

23 | DER1/A Electronic Regulator 141b | Aluminum connection bar

39a | Single-bearing protective net 142 | Support bracket

42 | Fastening of paralleling device 178a | EPDM rubber profile size 8.5x5.5mm

178b | UL EPDM+SP reinforced profile size 15.6x8.4mm

A
mecc alte

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

163



Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

13.6 ECO 43A Construction type B3B14

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 164




Code: en_GB
Revision: 0
Date: 09/05/17 15:47

Self-regulated Alternators
Series ECO 38-40-43-46

ENGLISH

ECO 43 List of replacement parts

Item Name Item Name

1 |Backlatch 42 | Fastening of paralleling device

2 | Protective cover 75a | Cable gland rubber washer

7 | Back cover 75b | Cable gland rubber washer DG29

8 | Frame with stator 94 | Back carter

9a | Front Cover B3B14 95 | Panel on terminal block side

10 | Exciter stator 96 | Terminal block back panel

11 | Rotating diode bridge 97 | Terminal block back panel

12 | Exciter blocking hub 98 | Regulator holder panel

13 | Exciter rotor 138a | Back lubricator tube

14 | Rotating Inductor 138b | Front lubricator tube B3B14

15 | Fan 139 | Terminal board support bracket

17 | Front bearing 140 | Aluminum terminal
18a | Internal front flange 141a | Aluminum bridge
18b | Internal back flange 141b | Aluminum connection bar

19 | Back bearing 142 | Support bracket

23 | DER1/A Electronic Regulator 178a | EPDM rubber profile size 8.5x5.5mm
39a | SIngle-bearing protective net 178b | UL EPDM+SP reinforced profile size 15.6x8.4mm
39b | Double-bearing protective net

A
mecc alte

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

165



Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

13.7 ECO 46A Construction type MD35

o

Tav_A9272.01_ECO46A_MD35_001-100

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 166




Code: en_GB
Revision: 0
Date: 09/05/17 15:47

Self-regulated Alternators
Series ECO 38-40-43-46

ENGLISH

ECO 46 List of replacement parts

Item Name Item Name
1 |Backlatch Flywheel disc holder hub 21
2 | Protective cover ” Flywheel disc holder hub 18
7 | Back cover SAE 21 Discs
60
8 | Frame with stator SAE 18 Discs
MD35 SAE 0 75a | Cable gland rubber washer
9 | Front Cover
MD35 SAE 00 75b | Cable gland rubber washer DG29
10 | Exciter stator 94 | Back carter
11 | Rotating diode bridge 95 | Panel on terminal block side
12 | Exciter blocking hub 96 | Terminal block back panel
13 | Exciter rotor 97 | Terminal block back panel
14 | Rotating Inductor 98 | Regulator holder panel
15 | Fan 99 | Disc blocking ring
17 | Front bearing 138a | Back lubricator tube
18a | Internal front flange 139 | Terminal board support bracket
18b | Internal back flange 140 | Aluminum terminal
19 | Back bearing 141a | Aluminum bridge
23 | DER1/A Electronic Regulator 141b | Aluminum connection bar
39a | Single-bearing protective net 142 | Support bracket
39b | Double-bearing protective net 178a | EPDM rubber profile size 8.5x5.5mm
42 | Fastening of paralleling device 178b | UL EPDM+SP reinforced profile size 15.6x8.4mm

A
mecc alte

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

167



Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

13.8 ECO 46A Construction type B3B14

Tav_A9274-01_ECO46A_B3B14_001-r00

' mecc alte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 168




Code: en_GB
Revision: 0
Date: 09/05/17 15:47

Self-regulated Alternators
Series ECO 38-40-43-46

ENGLISH

ECO 46 List of replacement parts

Item Name Item Name
1 |Backlatch 42 | Paralleling device
2 | Protective cover 75a | Cable gland rubber washer
7 | Back cover 75b | Cable gland rubber washer DG29
8 | Frame with stator 94 | Back carter
9a | Front Cover B3B14 95 | Panel on terminal block side
10 | Exciter stator 96 | Terminal block front panel
11 | Rotating diode bridge 97 | Terminal block back panel
12 | Exciter blocking hub 98 | Regulator holder panel
13 | Exciter rotor 138a | Back lubricator tube
14 | Rotating Inductor 138b | Front lubricator tube B3B14
15 | Fan 139 | Terminal block support bracket
17 | Front bearing 140 | Aluminum terminal
18a | Internal front flange 141a | Aluminum bridge
18b | Internal back flange 141b | Aluminim connection bar
19 | Back bearing 142 | Support bracket
23 | DER1/A Electronic Regulator 178a | EPDM rubber profile size 8.5x5.5mm
39b | Double-bearing protective net 178b | UL EPDM+SP reinforced profile size 15.6x8.4mm

A
mecc alte

Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized

169



Code: en_GB Self-regulated Alternators

Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 170




Code: en_GB Self-regulated Alternators
Revision: 0

Date: 09/05/17 15:47 Series ECO 38-40-43-46 ENGLISH

14 Dismantlement and disposal

To dispose of the alternator or its components you will have to recycle it, keeping in mind the nature of its various components
(for instance: metals, plastic parts, rubber, oil and so on).

You will have to designate specialized companies for this purpose and , however, observe the waste management applicable
laws.

Most of the materials used in the alternators can be recycled by specialized waste management companies. The

instructions contained in this chapter are recommendations to follow for environmentally sound disposal; the user has
the responsibility of observing local regulations.

For indicative percentages of the materials used in Mecc Alte alternators see paragraph 2.3.9.

' meccalte Mecc Alte S.p.A. - Full or partial reproduction prohibited, if not authorized 171




Mecc Alte SpA (HQ)
Via Roma

20 - 36051 Creazzo

Vicenza - ITALY

T. +39 0444 396111

F: +39 0444 396166

E: info@meccalte.it
aftersales@meccalte.it

Mecc Alte Portable
Via A. Volta

1-37038 Soave

Verona - ITALY

T. 439 045 617341

F: +39 045 6101880

E:info@meccalte.it
aftersales@meccalte.it

Mecc Alte Power Products srl

Via Melaro

2 - 36075 Montecchio

Maggiore (VI) - ITALY

T: +39 04441831295

F:+39 04441831306

E:info@meccalte.it
aftersales@meccalte.it

Zanardi Alternators

Via Dei Laghi

48/B - 36077 Altavilla
Vicenza - ITALY,

T: +39 0444 370799

F:+39 0444 370330
E:info@zanardialternatori.it

United Kingdom
Mecc Alte U.K. LTD

6 Lands' End Way

Oakham

Rutland LE15 6RF

T: +44(0) 1572771160

F: +44(0)1572 771161

E: info@meccalte.co.uk
aftersales@meccalte.co.uk

Spain
Mecc Alte Espafa S.A.
C/ Rio Taibilla, 2

Polig. Ind. Los Valeros

03178 Benijofar (Alicante)

T: +34 (0) 96 6702152

F: +34 (0) 96 6700103

E:info@meccalte.es
aftersales@meccalte.es

China
Mecc Alte Alternator Haimen LTD

755 Nanhai East Rd
Jiangsu HEDZ 226100 PRC
T: +86 (0) 513 82325758
F: +86 (0) 513 82325768
E: info@meccalte.cn
aftersales@meccalte.cn

U.S.A. and Canada
Mecc Alte Inc

1229 Adams Drive

McHenry, IL, 60051

T. #1815 344 0530

F: +1815344 0535

E: info@meccalte.us
aftersales@meccalte.us

Germany
Mecc Alte Generatoren GmbH

Ensener Weg 21

D-51149 KolIn

T: +49 (0) 2203 503810

F:+49 (0) 2203 503796

E:info@meccalte.de
aftersales@meccalte.de

France
Mecc Alte International S.A.

Z.E.La Gagnerie

16330 ST.Amant de Boixe

T: +33 (0) 545 397562

F: +33 (0) 545398820

E: info@meccalte.fr
aftersales@meccalte.fr

Far East

Mecc Alte (F.E.) PTELTD
19 Kian Teck Drive
Singapore 628836

T. +6562 657122
F:+6562 653991
E:info@meccalte.com.sg

aftersales@meccalte.com.sg

Australia
Mecc Alte Alternators PTY LTD

10 Duncan Road, PO Box 1046

Dry Creek, 5094, South

Australia

T: +61(0) 8 8349 8422

F. +61(0) 8 8349 8455

E: info@meccalte.com.au
aftersales@meccalte.com.au

India

Mecc Alte India PVT LTD

Plot NQ: 1, Sanaswadi

Talegaon

Dhamdhere Road Taluka:

Shirur, District:

Pune - 412208

Maharashtra, India

T: +912137 619600

F:+912137 619699

E:info@meccalte.in
aftersales@meccalte.in

mecc alte

www.meccalte.com



	Contents
	9 Maintenance
	9.5 Maintenance in case of failure
	9.5.5 PMG disassembling
	9.5.6 PMG assembling (38 series)
	9.5.7 PMG assembling (40-43-46 series)
	9.5.8 Removal of disc holder hub
	9.5.9 Loss of residual magnetism (reexcitation of the machine)
	9.5.10 Verification and replacement of voltage regulator
	9.5.11 DSR test and setup on test bench
	9.5.12 DER1 test and setup on test bench
	9.5.13 DER 2 test and setup on test bench
	9.5.14 Main stator windings voltage test
	9.5.14.1 Resistance/Continuity Test
	9.5.14.2 Insulation Test


	9.6 General Tightening Torques
	9.6.1 ECO38 Series
	9.6.2 ECO40 Series
	9.6.3 ECO43 Series
	9.6.4 ECO46 Series

	9.7 Disc Tightening Torques
	9.8 Terminal block Tightening Torques

	10 DSR / DER1 alarm management
	10.1 DSR/DER1 digital regulator alarms

	11 Problems, causes and solutions
	12 Electrical diagrams
	12.1 DSR digital regulator electrical diagrams
	12.2 DER 1 digital regulator electrical diagrams
	12.3 Electrical diagrams with PMG
	12.4 Electrical diagrams with UVR6 - SR7 regulators

	13 Replacement parts
	13.1 ECO 38A Construction type MD35
	13.2 ECO 38A Construction type B3B14
	13.3 ECO 40B Construction type MD35
	13.4 ECO 40B Construction type B3B14
	13.5 ECO 43A Construction type MD35
	13.6 ECO 43A Construction type B3B14
	13.7 ECO 46A Construction type MD35
	13.8 ECO 46A Construction type B3B14

	14 Dismantlement and disposal

	BackCover

